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General Instructions :
The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-A

What can you say about the motion of a body if its displacement - time graph is a
straight line parallel to the time axis ?

Which one of the two solutions will scatter light sugar solution or soap solution ?

A body of weight 20 N floats half submerged in a liquid. What is the buoyant force on
the body ?

Name two breeds of cows selected for long lactation period.

(a) Convert 359 K to celsius scale (°C).
(b)  What is the value of boiling point of water on Kelvin scale of temperature ?

Mention in tabular form any two differences between heterogeneous and homogeneous
mixtures.

The graph given below is the distance - time graph of an object.

(i)  Find the speed of the object during first four seconds of its journey
(i) How long was it stationary

(iii) Does it represents a real situation ? Justify your answer
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An athelete completes one round of a circular track of diameter 49m in 20s. Calculate
the distance covered and displacement at the end of 30s.

Define force and state its any two effects.
A man weighs 600N on earth. What is his mass ? (g = 10ms~2) On moon his weight

would be 100N. What is acceleration due to gravity on the moon ?
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Farmers use bee - keeping as an additional income generating activity. Give two reasons.
List two characteristics each of roughage and concentrate in relation to animal feed.
What are weeds ? List two disadvantages of weeds.

Define the following :

(a) boiling point

(b) latent heat of fusion
(c) evaporation

(a) What happens when acetone is poured on the palm ?
(b) Name the process involved in the following changes :
(i)  liquid—solid
ii) gas—liquid

iv) solid —liquid

(
(iii) solid —gas
(

List any three differences between prokaryotic cell and eukaryotic cell.

Which cell organelles are called the power houses of the cell and why ? Why is ATP
called energy currency of the cell ?

Write any three advantages of mixed cropping.

(a) Define momentum of a body.
(b) A ball is thrown vertically upward. What is its momentum at the highest point ?
(c) State the law of conservation of momentum.

A car is moving on a straight road with a uniform acceleration. The following table
gives the speed of the car at various instants of time.

Time (s) 0 10 20 30 40 50
Speed (ms™") 5 10 15 20 25 30

(i)  Draw the shape of speed - time graph representing the above sets of observations.
(i) Find the acceleration of the car.

Suppose a planet exists whose mass and radius both are half of those of earth. Calculate
the acceleration due to gravity on the surface of this planet. Take the value of ‘g’ on the

surface of earth as 9.8ms 2.
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Differentiate between thrust and pressure. State the unit in which they are measured.

Column of mercury of mass (10.2g) is in a tube of uniform cross - section of
0.1 cm?. Calculate the length of the column. (density of mercury = 13.6 g cm™)

State two types of plastics ? Write one function of each.
What is a ligament ? Mention its function.

OR
What are chromosomes ? List their two functions.

What is areolar tissue and where is it found ? Give its two functions.

What is distillation ? List the two conditions essential for using this as a method
of separation of components of a mixture.

Draw a labelled diagram of the apparatus used to separate a mixture of two
miscible liquids.

OR

Based on the following characteristics distinguish in tabular form the behaviour of true
solution, suspension and colloidal solution.

a)
b)

d)

(
(
(©)
(
(e)

(@)
(b)

appearance
visibility
filterability
tyndall effect

particle size

State Newton’s second law of motion and establish the relation F=ma.

Give reasons for the following

(i) If a boy jumps out of a boat, the boat moves backwards

(ii) The passengers sitting in a bus fall backwards when the bus starts suddenly.
OR

State Newton’s first law of motion and also deduce it using second law.

A steam engine of mass 3 X 10* kg pulls two wagons each of mass 2 X 10* kg with
an acceleration of 0.2ms ~2 Neglecting functional forces, calculates the :

(i) force exerted by the engine.

(if) force experienced by each wagon.
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SECTION -B

The test tubes A, B and C are taken with food samples of dal, mustard and rice
respectively in powdered form. On adding iodine solution the blue black colour is
observed in

(a) Test tube A
(b) Test tube B
() Test tube C
(d) None of these test tubes

To given three food samples in test tubes A, B and C, reagent HCl is added and solution
in B turned to pink colour. So, B confirmed the presence of

(a) Starch
b) Fat

¢) Metanil yellow
(d) Protein

Animal cells are commonly stained with :
(a) methylene blue

(b) acetocarmine

(c) safranin

(d) iodine solution

In the preparation of temporary mount of onion peel which of the following is not used :
(a) water

(b)  glycerine

(c) safranin

(d) alcohol

If you are shown two slides of plant tissues - parenchyma and scalerenchyma, you can
identify scalerenchyme by the :

(a) Location of nucleus

(b)  Thickness of cell wall
(c) Size of the cells

(d) Position of vacuoles
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A student observed a permanent slide. On observation he found striations but no cell
wall. From this it may be concluded that the given slide is of :

(a) Striated muscles

(b)
(©)
(

d) Cardiac muscles

Non - striated muscles

Neuron

To determine the melting point of ice a student immersed the bulb of the thermometer
in the crushed ice in a beaker. He then heated the beaker on a low flame and observed
that during melting of ice the temperature :

(a) is increasing
(b) is decreasing
(©)

(d) remains constant

first decreases and then continuously increases

In the experiment on to determine the boiling point of water while fixing thermometer
care is taken that the bulb of the thermometer should :

(a) be dipping in water

(b) just touch the surface of water
(¢) hein steam
(

d) touch the pumice stone piece placed at the bottom of the flask

A well stirred and filtered solution of egg albumin in water forms :
(a) true solution

(b) suspension

(c) colloidal solution

(

d) emulsion

A student added milk, white of an egg, common salt and sand separately to water kept
in fair separate beakers. He stirred the mixtures well and filtered each of them. On
filtering he obtained solid residue of the filter paper in case of :

(@) milk
b) white of an egg

(
(c) common salt
(d) sand
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36. Some properties of solutions are given below :
I) Stable

II) Translucent

a) property I only

)
b) properties I and II both

(
(
(III)  Can pass through filter paper unchanged colloidal solutions exhibit
(
(

c) properties II and III both
(d) all the three properties

In the experimental set up shown in the figure the missing item in the set up is :

funnel

china dish containing
camphor and sand

tripod stand
burner

Thermometer
Two holed cork
One holed cork
Cotton plug

38. To separate a mixture of sodium chloride and ammonium chloride the most commonly
technique used in school laboratories is :

(a) evaporation
(b) distillation
(c) sublimation
(d) filtration

39. When iron filings and sulphur are heated :

(a) a black mass is obtained

(b)  the mixture changes from black to yellow
(c) apungent smelling gas is produced
(

d) the mixture becomes brown
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40. To prepare iron sulphide by heating a mixture of sulphur and iron, we should use a :
(a) copper dish
(b)  petri dish
(c) watch glass
(d) china dish

41. When we mix barium chloride solution with sodium sulphate solution in a test tube we
observe that immediately :

(a) a white precipitate is formed

b) a yellow precipitate is formed

(
(c) the reaction mixture turns blue
(

d) the solution turns red
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